Year 4 Maths	Monday 21-9-20
LO: I can count in 1000s
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___tens make
hundred.

___hundreds make __
thousand.
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How many sweets are there altogether?

1000 1000 1000
There are three jars of ___ sweets.
There are ___ sweets altogether.
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‘What numbers are represented below?
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Always, Sometimes, Never

When counting in hundreds, the
ones digit changes.

The thousands column changes
every time you count in thousands.

To count in thousands, we use 4-
digit numbers.
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Rosie says,

If | count in thousands
from zero, | will always
have an even answer.

True or false?
Explain how you know.




